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inti;
char ch;
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for(i=0,ch="A"; i<4 ; i++, ch+=2% 1)

printf("% c", ch);
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#define pi  3.1416 .

int A=5;
printf("%d", *(&A)):
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%f .
int c=017;
printf("%d",c++);

A .
float a=18.56;
printf("%+f",a);

18 .

float x=15,y=4;
printf("%d", ++x%y++);
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double a=0.2,b=0.3,c=0.4;
if(a<b<c)
printf("%f",++a + ++b);
else
printf("%f" ,a++ + ++b);
it *x[10]; L) ol yolas blas asl p v ax=g LA
*X[2]=&y;
*x[2]; > x[2]; z &x[2]; .« **x[2]; .
int j;
for(j=0;++j<5;j++)
printf("%d",j++);
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fseek(fp,54L,3); .» fseek(fp,54L,2); z fseek(fp,54L,1); .o fseek(fp,54L,0); .3\
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int f(int n)
{
if(n==1)
return 1;
return n + f(n/2);
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int x[5]={8,10,12,14,16};
14 .

intx[5] ={8,10,12, 14, 14};
14 »

void swap(int X,int Y)

{int temp=X; X =Y; Y=X;}
void main()

{ int a= 5,b=10; swap(a,b);}

a=10, b=10 .»

void f2 (int *a)
{printf("%d",*a);}

void main ()

{int X[3]={10,20,30}; f2(X);};
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int X[3]={10, 20, 30}
printf ("%d", * (&(*X))):
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void f(int X, int * y)
{ X+=10; * Y+=10;}
void main()
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{int a=5,b=10 ; f(a,&b); printf("%d %d", a,b);}
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int m= 10, n=20;
if (n=5)&&(m>0))
{
pirntf ("%d",(++ n*m++));
}
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pl=strl; p2 = str2;
for (; *pL;pl++);
for G*pl=*p2; pl++, p2++);
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int n =10;
{int n= 20; n*=n;}
printf ("%d", n+n);
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m=m-+n;
n=m-n;
m=m-n;
m=2%*n,n=m .
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char c="ali" char c[]="ali" . o
int a,b,c;

return ((a<b) ?((b<c)?c:b):((a<c)?c:a));
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